Toa PEDRALI
TOA

DESIGN
Robin Rizzini

INSTRUCTIONS
Istruzioni - Gebrauchsanweisungen - Instructions - Instrucciones

EN - Place the legs (1) on the top (2), fix them with the screws provided (3,4,5).

IT - Posizionare le gambe (1) sul ripiano (2), fissarle mediante le viti in dotazione (3,4,5).

DE - Positionieren Sie die Beine (1) auf der Platte (2) und fixieren Sie diese mit den mitgelieferten
Schrauben (3,4,5).

FR - Positionner les pieds (1) sur le plateau (2), les fixer a I'aide des vis fournies (3,4,5).

ES - Colocar las patas (1) en el sobre de mesa (2), fijarlas con los tornillos provistos (3,4,5).

Solid laminate top - M6x40 (8 pcs)
Veneered top - M6x50 (8 pcs)




Solid laminate top - M6x8 (8 pcs)

Veneered top - M6x16 (8 pcs) \

==
Solid laminate top - M6x6 (4 pcs) >
Veneered top - M6x12 (4 pcs) ‘

PEDRALIS.P.A. - MADE IN ITALY - www.pedrali.it - info@pedrali.it 2020 rev.0



